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1
2 Dt g
3 6. 10

6. 11



6. 10
3
D1 =0.75
6.13
0.75
Ke =005 +5.5% =11.75%
1
N P
Px 1-F =5 "
S 1+K ' 1+K, "
P
Pn’ n
6. 14
Dt Pn~
2
6.15
N 2
Px 1-F =P "
S 1+K " 1+K, "
D
Ke=p s 1-F
4
5
6.16
K=  _10.5%
“T50x 1-5% 7
3
Ke
K(‘
K '=—"
Po/

P =12.00
g=5.5%
F=0
6. 14
Dt
6.15
6.16
50 5%
6.17
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K——
P—
P
5 15%
100 20%
120
6.17
. 15%
K. T100x 1-20% /120 =22.5%
4
@®
v P
P1-F =s—L2 d 6. 18
=1 1+K, 1+K, "
P
F_
D——
KP
P, n n
6. 14
Dt ¢
Dt
@
6.18 n—yoo
D
K=px 1-F
6 P=76.25
D=7.00
F=0
6.19
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7.00

) =76 55 =9 18%
5
kr ke’
Ti
K =K, =K, 1-Ti
Kr ke’
Dt g
.= D =D, 1+g """ D
P =3 ' =3 1 g —_ 1
=1 1T+K" " =1 1+ke ke — g
. D,
ke =—
Pn+g
F
Pn =P 1-F
ke' = D,
‘TPi1-F '8
6. 24 6. 20
K D, 1-Ti
r P I—F +g =11
7 P=12
=0.75 g=55%
F=0 T=25%
6.25
b= =075 5 50 x75% =8.81%
12x 1-o0

kc//

6.20
K'c

6.21

6.22

6.23

6.24

6.25
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6.1.2

6.1.2

L Hy %1 1-T. L
— + =
S1+K, ' 1+K, "
_I1-T,
LVCL1I-H +]
vI1-T
P1-F =% = L.
=1 1 +K, 1 +K,
K =t 1=t M-D =P
L M-D 1-F T
y P
P1-F =y— 2L "
=1 1 +K, 1 +K,
D
K=p1-F
Yoo Dy P,
P1-F =
A 1+K, ' 1+K "
D
K=p1_F
K = D,
“TPpi-r 7E
K =R
P, /P
K = D, +g 1-T,
T P1-F i
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Ln
H
J
L =L-LH+]J=L 1-H +]
8 L =2 000 000
H=20%
J =200 000
6.26
L, =L 1-H +J=2000 000x 1-20% +200 000
=1 800 000
2
P,x
M
F
pP,>= P-PF N=P 1-F N
9 P =997.50
F=0
N =3 000
6.27

P,> =P 1-F N=997.50 x3 000 =2 992 500
3

PnP Z
P

F N

P,> = P-PF N=P 1 -F N
10 P =76.25
F=0

6.26

6.27

6. 28
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. 124

N =20 000

6.28
P,> =P 1-F N=76.25x20 000 =1 525 000
4
Plll‘z
P
F N
P.>= P=PF N=P 1-F N 6.29
11 P =12.000
F :0 N:
500 000
6.29
P,.>=P 1-F N=12.00 x500 000 =6 000 000
5
R, R
R, =R 6. 30
12 R =5 000 000
6.30
R, =R =5 000 000
2.
C
C=L,+P,> +P, > +P, > +R, 6. 31
13 L,=1 800 000 P,> =2 992 500 P,
> =1 525000 P,> =6 000 000 R, =5 000 000
6.31
G :L" +Pn,AZ +P"pz +Pncz +Rn

=1 800 000 +2 992 500 +1 525 000 +6 000 000 +5 000 000
=17 317 500

P, C



P
14 12
6. 32
L
P
Wi = nLcZ B 127 939127 55%00”17%
P
Vo= "pcz =37 532157 05%% =8%
p
R
W= =%z30%
6.1.4

k, k, k. k k,

W, w, W, W, W,
Kw
Ku‘ = WLKL + W/,/K/,/ + VV])KP + WL‘KC + WrKr

15 6.1.3  NORWAY 1989 10 28
NORWAY
NORWAY

1.
1 6.5 6.1.3
L =2000000 N=10 H=20% J=200000 T =50%

Ko P1-T. 2000000 x8 x 1-50%
UL 1—H +J] 2000000 x 1-20% +200000
=4.44%

6.32

6. 33
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2
T =50% F=0 M =1000

C I 1-Tc _90x 1-50%

6.9 4.4.2
P =9975 I=1000 x9% =90

=4.54%

K,

2

6.1.3 NORWAY

P 1-F 997.

5x 1-0

9000000
1100000 10

20

7%

20000000

3000000

8% 2000000
1000

9% 3 000 000

8000000

100 2000000

10 5000000

5000000

20000000

1.00
12. 00
0.75
5.5%

7.00
76.25

997.50
50%
20%

200000

3
D=17.00 P =76.25
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D 7.00

K=p1-F "76.25x 1-0 - 18%
4
4 6.13 6.1.3
P=12.00 D1=0.75 g=55% F=0
K.=5 liF +p:12'000;(751_0 +5.5% =11.75%
3
5 6. 25 6.1.3
P=12.00 D, =0.75 g=55% F=0 T =
25%
K = L+g 1-T.
T P1-F l
= %+5.5 x 1-25%
=8.81%
5
2.
1
@D 6.26 6.1.3
L =2000000 H=20% J =200 000
L, =L 1-H +]J=2 000 000x 1-20% +2000 000
=1 800 000
7
@ 6.27 6.1.3
P=997.50 F=0 N=3 000
P,> =P 1-F N=997.50 x3 000
=2 992 500
8
©) 6.28 6.1.3
P=76.25 F=0 N=20 000
P,> =P 1-F N=76.25x20 000
=1 525 000
9
@ 6.29 6.1.3

P=12.00 F=0 N=500 000
P .Y =P 1-F N =12.00 x500 000
=6 000 000
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10

® 6.30 4.4.2
R =5000000
R, =R =5000 000
11
2
6.31

L,=1 800 000 P, > =2 992 500 P, > =1 525 000 P
> =6 000 000 R, =5 000 000
C =L, +P,>+P, > +P, Y +R,
=1 800 000 +2 992 500 +1 525 000 +6 000 000 +5 000 000

ne

=17 317 500
12
3
6.32
@O

L, 1 800 000
Vi="0=17 317 500~10%
@

. P> 2992 500
Ve == =17 317 500~17%
)

P,> 1525 000
Ve ==~ =17 317 500 =%
@

P,.> 6 000 000
We==¢"=17 317 500 ~>>%
®

R, 5000 000
.= C 17 317 500~30%

13
3.
6.33

K, =W,K, +W, K, +W,K, + W.K, + WK
=4.44% x 10% +4.54% x17% +9.18% x 8% + 11.75% x
35% +8.81% x30%
=8.6947%
NORWAY 1989 10 28
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K, =8.6947%

6.1.4
6.1.4
3
1 x 3
1 2 2 =3 2
4. 44% 1 800 000 10% 0.444%
4.54% 2 992 500 17 % 0.7718%
9.18% 1 525 000 8% 0. 7344%
11.75% 6 000 000 35% 4.1125%
8.87% 5 000 000 30% 2.643%
17 317 500 8. 6947 %
C KN/'
6.1.5
K=i+6 6. 34
Ke—
I}
0_
[}
0
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6.34

K].*:i+RJ, 6.35
j—
K+
i
R—
R,
R=FE,-ip 6.36
E"l—
m—

6.36 E, -1

6. 35 6. 36
K+ =i E,~i B, 6.37
B
i = pjm x 2L 6. 38
B =pim >~ :
pjm——
oj—
om—
6.38 2L
om
pim

130-



6.2

pim

K+ =i+ E,—i x,)jmx;%

ojm oj pm

Capital Structure

6.2.1

B

Em

EBIT

6.39
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132

EBIT
EBIT
3
1.
EBIT
EBIT
DOL
1
_ AEBIT/EBIT
boL = AS/S
DOL——
AEBIT—
EBIT——
AS——
S_
AEBIT/EBIT
AS/S
1 NORWAY
10%
6. 40

EBIT

6.2.1
6.2.1

6.2.2
6.2.2

EBIT

6.2.3
6.2.3

6. 40



_ AEBIT/EBIT

DOL ==—s/s
15 700 — 12 000
~ 12000 1
110 000 — 100 000
100 000
6.2.1 NORWAY
100 000
70 000
10 000
5 000
3 000
88 000
EBIT 12 000
6.2.2 NORWAY
0. 60/ 60 000 10 000
0.03/ 3 000 7 000
5 000
3 000
63 000 25 000
0.63
6.2.3 NORWAY 10 %
110 000
110 000 x0. 60 +10 000 76 000
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110 000 x0.03 +7 000 10 300

5 000
3 000 94 300
EPIT 15 700
6.1.3 6.2.1 6.2.2
6.40
2
r S Vv
F rS S+rS
rV V+rV
S-V-F S+rS -
V+rV -F
6.40
_ AEBIT/EBIT
DoL = AS/S
_ AEBIT/EBIT
B rS/S
_ AEBIT/EBIT  AEBIT
B r T EBIT- r
_ S4rS - V4r¥V -F - S-V-F
B EBIT- r
oS-V S5-Vr
T EBIT- r EBIT- r
S=V
T EBIT
S-V
DOL_EBIT 6.41
15
6.41 6.2.1 6.2.2
100 000 -63 000
DOL = 12 000 =3.1
6.4.15 1% EBIT 1% x
3.1= 3.1% 3.1% - 1% = 2.1%
3
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DOL =3.1%
1%
EBIT 3.1% 2.1%
® 6. 41
S-V
S-Vv
S_V “ ” S_
%
6.2.1
C ATC
0
® EBIT
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EBIT

6. 42

6.2.1
AVC AFC
ATC 6.2.1
14 F
2.
EBIT
EBIT
EBIT
EBIT
EBIT
DFL
1
AEPS/EPS
DFL =" kpir/EBIT
DFIL——
AEPS——
EPS——
AEPS
EPS
AEBIT
EBIT
6.42
n
_ X
X
_nx AEPS _AEPS
n x EPS EPS
AEPS
EPS
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2 LS GS 4.4.6

6. 42
20%
LS DFL:ZO% =1.00
27.3%
GS DFL = 20% =1.364
6.2.4
10 000 000
1 500 000 EBIT
LS
LS
EBIT 20%
EBIT 20%
LS 7.3% DFL =1.36
GS
LS
EBIT 20% LS DFL=1.00
20% GS DFL =1.364 GS
20% x1.364 = 27.3% LS
EBIT DFL
GS
2 6.42
n
1
L
d
T
nx AEPS
n x EPS
EBIT
nx AEPS=AEBIT 1-T
EBIT
nxEPS= EBIT-1-1L 1-T -d
6.43 6. 44 6.42

DFL =1.00

GS
EBIT

20%

GS

GS

27.3%

GS

7.3——

6.43

6. 44
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AEPS/EPS

DFL = X EBir/EBIT
_nx AEPS _EBIT
nxEPS ~ AEBIT
_ AEBIT 1 -T . EBIT
EBIT—-1—-L 1-T —d AEBIT
~ EBIT
d
EBIT-1-L-1%
DFI = EBIT y 6. 45
EBIT-1-L-1%
16
6.45
1 500 000
LS DFL == =1.00
1 500 000
GS DFL=17500 000 —400 000 = '+ 3°
6.2.4 LS GS
LS GS
$10 1 000 000 500 000
8% $5 000 000
$10 000 000 $10 000 000
EBIT 500 000 1 500 000
400 000
40% 600 000 440 000
900 000 660 000
0. 90 1.32
EBIT 20% 20%
EBIT 800 000 1 800 000
400 000
720 000 560 000
080 000 840 000
108 1. 68
0 18 0.36
20% 27.3%
1. 00 1. 346
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DOL DFL
DCL

AEBIT/EBIT = AEPS/EPS

DCL =DOL X DFL === 00 X R IT/EBIT

_ AEPS/EPS
T AS/S
_ AEPS/EPS
DCL = AS/S 6. 46
DOL  DFL

DCL:DOLxDFL:]SZ];I\T/x EBIT = S-V 1
EBIT-I-L—ﬁ EBIT—I—L-m

DCL = S-V ] 6. 47

C
EBIT—I—L—I —
3 NORWAY S =8000 000 \%
=4 500 000 EBIT EBIT =2 500 000 I =400 000
L =200 000 d =500 000
T =50%
6.47
DCL < 8 000 000 —4 500 000 = 000:1.94
2 500 000 —400 000 —200 000 —
0.50
DCL=1.94 1%
1% x1.94 = 1.94%
0.94%
DCL. DOL DFL DOL  DFL 1

DCL
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4 NORWAY

6.2.5
6.47 NORWAY
640 000 —320 000
DL =50 000 — 16 000 —0 ~ 20- O
DOL =5. 0
DFL = 16. 0
DFL DCL
6.2.5 1%
EPS  80% 1% EPS 80%
18
6.2.5 NORWAY
1989 1988. 12. 31 ~1989. 12. 31
1% 1%
640 000 646 000 633 600
320 000 323 200 316 800
300 000 300 000 300 000
EBIT 20 000 23 200 16 800
16 000 16 000 12 000
4 000 7 200 800
50% 2 000 3 600 400
2 000 3 600 400
1 1
EBIT 16 16
EPS 80 80
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6.2.2 Financial Risk

EBIT
1
5 LS GS 6.2.6
6.2.6 LS
GS GS
6.2.6 LS GS
LS GS
$10 100 000 50 000
6% $500 000
$1 000 000 1 000 000
80 000 80 000
20 000 20 000
30 000
20 000 -10 000
2
6 NORWAY 6.2.7 NOR-
WAY 6.2.2

Epps O pps
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E =2 X 43 x 44 x—=3.00

3 3 3
6.2.7 NORWAY
Xi Pi
50%
$4 000 % $2.00 $1.50
$6 000 % $3.00 $3.50
$8 000 % $4.00 $5.50
6.2.2
EPS

A L N 9
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O Eps :\/ Y

1
3

ER S I SR
2-3 "+ 3 3-3 "+ 3 4-3

=0.82

EE%=L5xL+&5xL+55xL=3m

3 3 3

0 Eps Z«/ 2

1
3

1.5-3.5 2+% 3.5-3.5 2+% 5.5-3.5 2

=1.63

E pps <E pps O pps <O pps

3
7 LS

10 000
GS

25%

GS 80 000
50%
-7
CV = i 6.2.7

LS 0.10

GS
0.3

LS 0.3 0.5° 60%
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6.2.8 LS GS

LS GS
$10 100 000 50 000
$ 500 000
$1 000 000 1 000 000
80 000 80 000
30 000
E 80 000 50 000
50% 40 000 25 000
40 000 25 000
40 000 25 000
100 000 =0.40 50 000 =0.50
6 40 000 40 000
40 000 40 000
v 80 000 =05 50 000 =0.8
2.
Po
p-ps— DL 6. 48
=1 1 +K,
1—yo0 Ds
P
P=i 6. 49
6.49
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D E EPS

K,
K, =i+0 6.50
0=0,+0, 6.51
6—
0,—
0,——
0
0-0
L 6.52
f_
g,——
0
d—
.
d-r 1
o—dr
%o
o—dr v o, d
.
E s
Py = - 6.53
. o,
i+fx o—dxr
6.53
6.2.3
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4.4.3

4 V'>B’ L
6.2.3

%

%

6.2.3
6.2.4 6.2.4
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6.2.4

%

%

%

%
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1 EBIT - EPS EBIT - EPS
EBIT EPS
7 NORWAY 6.2.9 NORWAY
6.2.10 EBIT
EPS
6.2.9 NORWAY
100 $50 $50 000 000 0 50%
80 $50
$50 000 000 $10 000 000 50%
$10 000 000 8%
6.2.10 NORWAY EBIT EPS
EBIT EPS
A $2 000 000 $2 000 000 $1 000 000 $1.00
$4 000 000 $4 000 000 $2 000 000 $2.00
$8 000 000 $8 000 000 $4 000 000 $4.00
B $2 000 000 $1 200 000 $600 000 $0.75
$4 000 000 $3 200 000 $1 600 000 $2.00
$8 000 000 $7 200 000 $3 600 000 $4.50
6.2.8 6.2.9 6.2.5
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6.2.5

EPS B
A
S
.5 |
S g :
3 T . :
e . ; .
i 5 '
T i |
0. 75 [ =
| | | I T N e
0o 1 2 3 4 5 6 7 8 9 10
EBIT
400 EBIT EBIT
EPS EPS EBIT EPS
EPS
EBIT — EPS
2
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6.2.11

1.
1 v
2 v
3 v
4 v
5 v
2.
1 v
2
@ X
®) X
€) X
@ X
® X
3. X
4.

4.4.13
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6.3

6.3.1
1 NORWAY
A
13 14
8. 6947 %
B

6.3. 1

6.3.2

6.3.3
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6.3.1

W,

~ 200 000 000
~ 50 000 000

=40%

10

100

1000

20

5 000 000

2 000 000

9%

1.00
12. 00
0.75
5.5%

7.00
76. 25

99.7
50%

200 000

20%

6.3.2

20 000 000
32%

10 000 000
8.2%

10 000 000
16. 5%

10 000 000
16%
50 000 000

- 152

14

_ 10 000 000
”750 000 000

10 000 000
© 750 000 000

=20%

=20%



_ 10 000 000

V. =50 000 000 =20%
4.449% 10% 0. 444%
4.54% 17 % 0.7781%
9.81% 8% 0. 7344 %
11.75% 35% 4.1125%
8.81% 30% 2.643%
8. 6947 %
3.2% 40% 1.3%
8. 2% 20% 1.6%
16.5% 20% 3.3%
16% 20% 3.2%
9.4%
B 9.4%
B
A B
K, <K,
A
A
A EBIT - EPS
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I1-T

Pn,L
K,—
I
P/LL—
T——-
I P
2
E D
K =—=—
‘ Pnc p
K—
E—
Pnc—
D——
P
3
A I+FE
K“‘ - V —PnL +Pn(
Kn—
A—m I+FE
V_ PnL + Pn(,‘
6.56
K _ ]+E _KlPuL/ 1 _T +KCPIIL'
v PnL + Pnc - PnL + Pm‘
_K PnL K ne
! 8 PnL + Pn(' 1 - T ThRex PnL + Pm‘
PnL
PnL + Prm
2 NORWAY $1 000 000

6.54
6.55
6.56
6.57
P"(‘
P, +Pnc
100



000 EBIT  $250 000

50% NORWAY
$.— — $10.00
$ 100 000 6.0% $10.00
$200 000 6.0% $10.50
$300 000 6.5% $10.75
$400 000 7.0% $11.00
$500 000 8.0% $10.50
$ 600 000 10. 0% $9.50
EBIT $250 000
X I
$250 000 -1
50% $125 000 - -
1
$125 000 - >
EPS —_—
n
1
$115 000 - —
Ke 2
X nP
K _ PnL & Pll(' K
v PnL + Pnc 8 2 ¥ PnL + Pnc 8 ¢
P K P
K nlL N nC ) K
Pn,L Pnc ‘ PnL +PnC ) 2 PnL +PnC XKL "
$100 000 $900 000 | 13.56% 0.3 12. 204 % 12. 504 %
$200 000 $840 000 | 14.17% 0.577% 11. 445% 12. 022%
$300 000 $752 000 | 15.32% 0.926% 10. 953 % 11.879%
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$400 000 $660 060 | 16.82% 1.321% 10. 473% 11.794%
$500 000 $525 000 20% 1.951% 10. 240% 12.195%
$ 600 000 $380 000 25% 3.061% 9. 694 % 12. 755%
$100 000 6%
$1 000 000 — $100 000 = $900 000
$100.000 _
$10. 00/ Ts10 - 10 000
100 000 —10 000 = 90 000
O P”(‘
Pn(,‘ = X
=90 000 x $10 =900 000
1 K,
$125 00~ 1 s125 oo - 100000 X0%
K. = np - $900 000
=13.56%
2
Pn,l‘ &
Pn,L +Pnc 8 2
_$100 000 6% _ B
=$1 000 000 X > =10% x30% =0.3%
3
Pll(‘ K
PnL +Pnc 8 ‘
_$900 000 ) )
=%1 000 000 x13.56% =90% x13.56% =12.204%
4
PnL I& ne K
PnL +Pm‘ 8 2 +PnL +Pm‘ e
=0.3% +12.204% =12.504%
$ 400
000 $660 000 NORWAY
$11.00/ 11. 8%
6.3.2
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6.3.2

%
12.3%
12
6
|: |: |: |: I: |
0 2 4 6 8 10 10
1
11. 8%
6.3.2
1
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90%

1
2
Boeing Corporation
b 777”
“ 777 $40 ~ $50
$15 $5
$60 ~ $70
" 777 ”
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word

Green Apple Data Center




1 °
. 3
° °
° .
° °
. .
° .
2 °
. °
[
1
2
/7
7.1
7.1.1
1984 1994
1990 11
$10 5 3200
1994 5 82 1600
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7.1.2

Ry =Ry + Ry, + Ry + Ry,
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ROI ROS + R04

100% —_—

164 -



7.1.3
1 NPV
. At u At
NPV_ = [
IZO 1 +RRR ' ,; 1 +RRR '
2 PI
n At
pro 1 + RRR
1
3 IRR
N —_ — IRR
=1 1 +IRR
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7.1.1

7.1.1

166 -

e +1
— 1 —
—
5 6
— —
N2/
—
Pl IRR
NPV
NPV
NPV NPV NPV
A, RRR
7.1.2 NPV -

IRR



100 10%
100% B
A—
NPV Pl
IRR
7.1.2 S
= Al KAl _
A
7 1A
NA 2
ATA KA2 KA
= RRRA
L A3 a [
KA3
NPVA
B [mtmomtmoimoees NPVB \
C o NPVC >/ NPV

7.1.4

NPVN
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7.2

7.2.1

7.2.1

COD

2% ~3%

CBD
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5-10

7.2.1 Dun & Bradsteet

54 $50 000 000 4
44 $10 000 000 ~ $50 000 000 4
34 $1 000 000 ~ $10 000 000 4
24 $750 000 ~ $1 000 000 4
14 $500 000 ~ $750 000 4
BA $300 000 ~ $500 000 4
BB $200 000 ~ $300 000 4
CB $125 000 ~ $200 000 4
cC $75 000 ~ $125 000 4
DC $50 000 ~ $75 000 4
DD $35 000 ~ $50 000 4
EE $20 000 ~ $35 000 4
FF $10 000 ~ $200 000 4
GG $5 000 ~ $10 000 4
HH $5 000 4

@

2
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7.2.1
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7.2.1

7.2.2
7.2.2
® | @
X 360 7.1
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= - 7.2
200 000 30

7.92% 1301. 92 20 000 - 1301.92 =
198698. 08
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1 NORWAY 10 2%
30
20
2%
NORWAY
C 365
R =D 1-C 7.3
C D NORWAY
R
C=2% D =20
2% %365
R_20>< 2% =37.24%
1/10 net20 36.36%
1/10 net30 18. 18%
2/10 net20 73.44%
2/10 net30 36. 72%
NORWAY
NORWAY
14% NOR-
WAY
7.3
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7.2.2

7.2.3

7.2.3
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270 30

7.2.3

90
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@0 ©wee

w N

85%

100%
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10% —20%

2 NORWAY
6%

NORWAY

a = =~

L__475 000 -50 000
- 1-0.25

NORWAY 50
475 000

=500 000

30 000

475 000 ~ 0 32%

7.2.4

3 NORWAY
NORWAY
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475 000
15%

50

100 000
80%

7.4



20% 20 000 NORWAY

2.
7.2.5
1. Blanket Inventory Lien
2. Trust Receipts
3. Field Warehouse Receipts
7.3
7.3.1

181 -
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7.3.2

r‘



183



184 -



1%

1 NORWAY

— 7.3.1

10

3%

2%
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7.3.1 NORWAY

20 30 0 100
60 100 80 80
80 130
160 260 80 180
140 140 220 220
360 400 300 300
NORWAY 5
10 6 4
7.3.2
NORWAY
NORWAY 7.3.2
1 2
? 54
40 4
7.3.3
7.3.2 NORWAY

20 20 20 80 80 80
60 80 80 100
80 100 100
160 200 200 220 220 220
140 200 200 100
300 400 400 3000 400 400

186 -



7.3.3

540 000
400 000
140 000
40 000
100 000
140 000

7.3.1

A= 2500

5000 5000

2 NORWAY 10000 0
10 3000
1 10000
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27.3%

10% NOR-
WAY
2 10000 5% 50%

10 10

7.3.2
A= 2200
2000 8000

7.3.3

125

110
100

75

50

25

0 20 50 100
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5000 2500
x10% =2500 5000
5000 =2500 P/A i 10 -5000 P/S i 10
i =48%
1=48% 1=27.3%

3 80%
10000 x20% =2000

10% =2200 8000

2000 =2200 P/A i 10 -8000 P/S i 10
1=110%

i=110% 1=48% i=27.3%

ABC

7.4

7.4.1

7.3.1

3000  -5000

10%
3000 - 8000 x
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p—
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1 NORWAY
200

5 000

N, A

N, A

NORWAY 10
5 A

100
100 000 —

N, =50 000 x

2

B
X
~

OV =

+
=

= = v =

192 -

NORWAY

7.5

100

7.6



NORWAY
1
110 =100 x—
' 1+L
4
M-S
®V_N+1
M
NORWAY
9
40 -30
=011 =1.00
P -S
BV = N
P
NORWAY
4 7
V=48_44=2.00
2
3
)
@

=2.00

100

40

7.8

48

110

7.7

30

7.8
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7.4.2
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p—

© O o
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- 196-

300

200

7.4.3

120

LS GS

300 300
600 1 LS
300
200 100 5
20 800
200 600

200

20



T ® ® 0

G
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EPS

EBIT
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EBIT,-1 1-T -PD

EPS, = S 7.9
EBIT, EBIT EBIT
I
T
PD
S
EPS, EPS EPS
3 NORWAY 100
1 000 000 100 000 400 000
5% 750 000 4%
50% NORWAY A 8%
100 B 10 25 000
7.9 EPS, EBIT  EBIT
7.10
EBIT,-1, 1-T, -PD,
Sy
_ EBIT, -1, 1-T, -PD, 1o
Sp
T,=T,=5% PD, =PD, =400000 x5%
=20 000
I, =1 000 000 x8% +750 000 x4% =110 000
I, =750 000 x4% =30 000 S, =100 000
S, =100 000 +25000 =125 000
EBIT, =47 NORWAY
EBIT 47 EPS 1.6
EPIT 7.9
7.4.1 NORWAY EBIT 47
B EBIT 42
EBIT 47
A NORWAY EBIT
100 7.4.1 A
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7.4.1

600

372

300

200

160

100

1000

800

EBIT

7.11

1-T -PD-SF+D

EBIT, -1

SF

100

EBIT

NORWAY
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15

10 16
EBIT, 145
EBIT,-1, 1-T —PD-SF,+D
Sy
EBIT, -1, 1-T -PD-SF,+D
= 7.12
Sg
EBIT 145 NORWAY
5.60 7.4.2 EBIT 100
B A EBIT 145
A B
NORWAY
EBIT A
3.
A B
7.4.2 2

3.00

2.00

—L s

1. 80
1.00
_—

0.85

0 200 400 [ 600 800 1000 1200 1400] 1600 1800 2000

500 1450
EBIT
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NORWAY A
EBIT 130

“ K NORWAY

NORWAY 10

A B

1 0
A =5x1+4x0+1x1=6
B =5x0+4x1+1x0=4

A B
NORWAY

A =2x1+6x0+2x1=4
B =2x0+6x1+2x0=6
B A

7.4.4

1 000 40
40: 1 25

- 202-



1 000
50

50

160

160

1000

p—

[\

-160

100

1 000

42

19. 1%

50 -42 x
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7.4.1

NORWAY

1 000 000 1 000 000 1 000 000

30 000 30 000 30 000

80 000

890 000 970 000 970 000

50%

445 000 485 000 485 000

445 000 485 000 485 000

20 000 20 000 20 000

425 000 465 000 465 000

100 000 120 000 125 000
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4.25 3.88 3.78

4 NORWAY A 100
B 25 000 40
8% 50 NORWAY
7.4.1 A
7.4.1
25%
7.4.1
NORWAY A
2
5 NORWAY 100
NORWAY
NORWAY
NORWAY
3%
NORWAY
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7.4.2 GS LS

GS LS
8000000 2000000 10000000
4000000 1000000 4800000
200 200 208
5000 3000 5000
1 00 0 60 1 00
6 GS 50 2 1
LS 30 2 0.6
GS 8 LS 10
7.4.2 7.4.2
LS 2 1. 60 GS
8 LS 10 LS
1.6 0.8 LS
1. 60 0.8 GS
7.4.3 7.4.3
7.4.2
7.4.3 GS LS
10000000
1 600 000
1000000 x $ 1. 60
8400000
4000000
2.20
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7 NORWAY 40
50 20 4.5%
1 000 20 5% NORWAY
75

75 45
NORWAY

7.4.5

- 207



3
2.

8 NORWAY 4 000 A

B c

6% 50
7% 1000 360
40
7.4.4
80 380
1200 60
12000 720
720 12 720
80 12
100
7.4.4 NORWAY

40 40 40.0
10 30 40 30 38 30 31.2
30 32 6.0
50 50 50 50 50 50.0
80 120 80 120 80 87.2
80 120 120 120 120 127.2
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3.00 4.00 3.00 3.80 3.00 3.12

7.4.5 NORWAY
22 30 30.0 30 30.0 31.44
2.4 2.8 2.80
22 30 27.6 30 27.2  28.64
50% 11 15 13.8 15 13.6 14.32
11 15 13.8 15 13.6 14.22
3.00 4.00 3.00 3.80 3.00 3.12
3.67 3.75  4.60 3.95 4.52 4.60

7.4.5 NORWAY
1 4 000 20% 2
2 200
B
7.4.6

10
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7.4.7
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—

O O

7.4.3

7.4.3

+—
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[Q\

CESN)

7.4.4

o

7.4.4

B
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C+S=60x 35— 7.13
=11+
c
S
co
13
9 NORWAY
c $2000 000
S $1 080
L $300 000
D SYD
0 $10 000
10
P $200 000
kme 10%
Ks 20%
Kd 6%
T 50%
10 1
GO = $200000/ %~ + $10 000
- $37174
I 7.5
$200 000 + §1 080 = $37174 x;zol 1 Jl”_ ,
10 1
Sy =5.409
i=13.076%
i 50%
13.076% x 1-50% =6.538%
2
N
C=L,+L, x> -

=0 1 +4
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9
$200 000 = $20 000 + $30 000 x >~ L
=0 14

2 1
2. ;
=0 1+

=5. 0007

1=11.2%
i 50%

11.2% x 1-50% =5.6%

NORWAY
1
2
$ 1440
$30 300 1
60 $26
$25 $29.17
1
100 $15 3
$ 60 $26. 25
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1 3
. A .
2 °
. 4 FRICTO
. 5
I
1
2
3 FRICTO
O
8.1 Financial Leverage
8.1.1 A
70
25%
A
A
5
A
1989 400
1989

- 216-



8.1.1

8.1.3

1988

8. 1.

1

40%

$ 5075000
3704000

$ 1371000

$ 650000
416000
152000

1218000
$ 153000
93000

$ 60000
24000
$36000

8.1.2

12

31

1988

1987

$25000
805556
700625

$1531181
$ 2093819
500000

$1593819
$ 3125000

$24100
763900
763445

$ 1551445
$1691707

348000
$ 1343707
$ 2895152
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1988 1987
$ 230000 $ 400500
311000 370000
75000 100902
$ 616000 $ 871402
$ 1165250 $700000
$ 1781250 $ 1571402
$ 50000 $50000
100000 100000
193750 193750
1000000 980000
$ 1343750 $1323750
$ 3125000 $ 2895152
8.1.3
1986 1987 1988
1.7 1.8 1.5
1.0 0.9 1.2
5.2 5.0 10.2
50 55 46
3.2 3.5 4.1
1.5 1.5 2.0
45.8% | 54.3% 24.5%
2.2 1.9 2.5
27.5% | 28.0% 26.0%
1. 1% 1.0% 1.2%
1.7% 1.5% 2. 4%
3.1% 3.3% 3.2%
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8.1.2

oPM
ROE ROE
ROE =
ROE
= EBIT-i1D 1 -t
EBIT 1D _— l
D I3 EBIT
ROE
ROE = ROIC + ROIC -i'" D/E
ROIC EBIT
i’ 1-¢t i E

ROIC
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1995
ROE
ROE =16.6% + 16.6% -3.9% x $8240/ 65600
18.2% =16.6% +1.6%

3.9% 8420
65600
16. 6%
8240 18.2%
ROE
ROE ROIC i ROIC i D/E
ROE ROIC i
ROE
8.1.1
14,

$ESBUR0 C=28%
120 ¢ e

A ERIIC=12

0% 100% 200% 300% 400%
WS4 (St 40 EE)

8. 1.1 ROIC

- 220-



ROE 28%
12% -4% 4%
ROE ROE
ROE
ROE
8. 1.1 “ ”
4% 4.0
36%
8.2
ROIC i’ ROIC i’
RoOIC
1997
3000
3500
500 3000
| $20 1500
2 3000 12% 20
150
EBIT 1997 3000 EBIT

- 221



1990 1991 1992 1993 1994 1995 1996 1997F

EBIT 15 10 30 26 5 15 21 30

500 2000
50
8.2.1 8.2.2

8.2.1
ROE
EPS ROE
8.2.1 1996
200
144
56
36
4
16
40% 7
9
1
8
500
$1.60
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8.2.2

14
32
22
68
70
138

15
21

42
34

13
41
138

* 1996

10% 400
12%

EBIT
1997
1000
EBIT
8.2.3
1997

EBIT

10%
1997

2002

EPS

EBIT

8.2.3

4000

1997 4000
400 3600
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500 650
150
40%
8.2.3 1997
EPS
EBIT 10.0 10.0 40.0 40.0
7.2 3.6 7.2 3.6
2.8 6.4 32.8 36.4
40% 1.1 2.6 13. 1 14.6
1.7 3.8 19.7 21.8
1.0 1.0 1.0 1.0
0.7 2.8 18.7 20.8
5.0 6.5 5.0 6.5
EPS $0.14 $0.44 $3.74 $3.21
EPS
EPS EPS 17%
EPS
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ROIC i

8.2.3 EBIT - EPS
8.2.1
EBIT
EPS 4000 EBIT 374
EPS 1000 EBIT 14 EPS
321 44 —

8.2.1
$5.00 T
400 + :
sao0 7 P stEs :
L EBIT=20. 0@ &7 :
- ST = e % el
] 5] = @
] w . o H
. = H -~ -]
Fawp o E g g
= =i i
< - 4 i ]
s -7 0 20 30 40 50
BMokaE(EhET)
= 5100 -
EBIT EPS
3000 11%
EPS
EBIT EPS

EBIT
EPS
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8.2.4

$7.2 $3.6
$5.5 9.2 4.0 6.7
1.0 1.7 1.0 1.7
2.5 4.2 3.3 5.5
EBIT 2100
EPS EPS
EBIT
EBIT
2100
EPS
8.2.2
EPS  ROE
8.2.4
EBIT
40%
1
2/3 17 1-0.40 =1.67
8.2.4 EBIT 3000
? 3000 EBIT
1.35=30/ 7.2+9.2+1.7 +4.2
“ EBIT ?
1.0 EBIT
720
1.0 EBIT 3000 720
76% 1.0
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EBIT EBIT
4. 17 76 % 8.33 88%
1.83 45 2.91 66
1. 66 40 2.50 60
1.35 26 1.71 42
8.2.5 1990 ~ 1995
1990 1991 1992 1993 1994 1995
400
% 21 21 20 19 20 20
3.1 2.6 3.0 3.4 5.1 5.0
/
% 14 14 12 14 13 14
4.3 4.4 5.8 7.1 6.2 4.4
4
% 22 30 35 34 36 32
0.3 -0.5 -0.9 0.2 05 2.0
4
% 53 53 57 47 45 43
1.4 1.2 1.7 2.1 2.4 1.1
13
% 10 11 9 10 11 7
3.4 -0.7 0.4 0.8 1.5 8.4
% 9 10 9 7 6 7
4.9 5.3 9.8 21.0 24.7 35.6
3
% 38 38 32 31 27 26
2.0 2.1 1.9 3.0 3.3 3.1
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8.2.5 1990 1995 400
20%
8.3.1
1993 ~ 1995
AAA 13.50 B 1.17
8.3.1
1993  ~1995
AAA AA A BBB BB B
13. 50 9.67 5.76 3.94 2.14 1.17
EBITDA 17.08 12. 80 8.18 6. 00 3.49 2.16
/ + % 98. 20 69. 10 45.50 33.30 17.70 12. 80
? % 29. 30 21.40 19.10 13.90 12. 00 9.00
/ § 13.30 21.10 31.60 42.70 55. 60 65.50
#* EBITDA =
+ / =
Q =
N = +
1996 10 30 25 —
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8.3.1

500
2000
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- 230-

8.3.2

1
1981 531
30%
3000
900 /500

80%

=$1.8/

30%

$ 100

0.3 x 3000

$20

1963

=900

9%
3%

900

9%



EPS

$97

EPS

EBIT

EBIT
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8.3.3

P RA

g

%

= PRAT

70

80



1976

1976 38%
1980 49 %
1980
1981 1 5 1.72
2.41
20% 1980

1

2

3

4

5
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3
1986
$85
$ 85 14
16 -1.57
1. 57
$67
$ 10 $85
$10 $67
$28  42% $85+ $10- $67=§28
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8.4 FRICTO

FRICTO Flexibility Risk Income
Control Timing Other
FRIC
T O
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8.5

- 236

8.5.1



8.5.2

6%

4000

4000
1400
1000
40%

$25
1600

- 237-




b. 800

c. 4000
d. $25 160
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key word

Green Apple Data Center



1
2
[
9.1
9.1.1

1971

10

. 241



. 242

5000

1963

60

1971

1968

30

11

60

1967

1968



100000 1968 11
31000
9.1.3 9.1.3
9.1.1 1967—1971
3 31
1967 1968 1969 1970 1971
972 1194 1330 1741 1788
812 977 991 1350 1497
160 217 339 391 291
— — — 5 53
138 188 275 309 314
— — — 55 61
— 15 15 p— =
22 14 49 22 —137
22 28 37 40 51
9.1.2
1971 4 —9
679
532
22°
1971 4 1 —12 31
1060
833
24
x 2000 3.2 2.4

% 1971 12 15
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9.1.3

1967 3 31 —1971 3 31 1971 12 31

3031 1971

1967 1968 1969 1970 1971 1231

9 12 6 10 15

141 151 204 376 326 235

35 25 53 85 76 67

15 22 23 17 35 25

4 3 14 10 23 14

204 213 300 498 460 356

* 135 161 238 291 225 173
4 4 3 10 8 7

3 378 541 199 693 536

— J— — J— 6 J—

151 153 190 236 288 86

108 78 165 231 220 178

3 2 6 34 50 185

10 12 7 36 33 26

13 30 46 27 31 27

285 275 414 564 648 502

39 70 45 131 81 48

324 345 459 695 729 550

32 32 32 33 33 33

13 1 50 72 65 43

— — — 1 4 4

M| s | s | 19 | 693 536

* 1969 1970 1971 3 31 24000
18000 1971 9 30
3 31 1969
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1969 450

140000
1969
12% 3
1970 12

15 75 1971 3

12 5
30 5
600 10
1971
1971 3
3 15
1971
3 ~4 3000

~4000

9.1.2 1972

420
1973
1972 500
1971
15
5 5 2000

. 245,



1972 3
1972

80% 13.5%
1971 12 31 9.1.3
3.75
4000 /

1971 12
1.41 5000

10. 00
4.95
1.07
0.40
0. 87
0. 64

5%

9.1.2
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9.1.4

1994
1960 1970 1980 1990 1994 10
6.0% 4.3% 2.8% 2.4% 2.7% $83.0
4.8 0.7 2.5 2.0 2.6 81.9
156 17.3  17.0  13.9  13.1 405.5
23.6 230 19.8 143  12.8 391.3
2.3 3.5 2.8 3.4 4.0 124.9
52.3% 48.8% 44.9% 36.0% 35.2% $1086. 6
3.9%  6.3% 50% 6.2% 3.8% $119.8
7.9 8.5 9.9 7.9 8.0 250. 2
9.0 9.9 120 1.6  13.1 408.5
20.8% 24.7% 26.9% 25.7% 24.9% $778.5
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9.1.3

9.1.4

35%

9.1.1

$ 10000

25%

9.1.1 A

9.1

1



9.1.1 C

9.1.1

R a9 e o 7

TR

iR sh ¥

— KB
EER :
o - il
AL BOME LIS
B i S
A Wt ke ') KR

KMt eh T - T

Lrd e g
0 S B
Bifl: (R2FMHiE
ek Wb R 2l 7 7
R
ik b al
lemme
I o e §
0 . = [id]
CHl: Rk
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9.2
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30

9.2.1

20

20

80

20

80 30

60
60

80

50

20

50

80



9.2.1

L % EE
e pro G
1 R SR
) (50 S
0 20 50 80 BT ()
B 47 AR TR E o 20 & Y
Wk | (60%) L
ol .
£
Hen
= + - 9.1
365
= /365 9.2
DSO
B B 365
= /365 - 9.3
_ +
= T /365
9.4

1 Parke — Davis
Parke — Davis

$1.40
$1.70
$0.40
$0.10
$20.0
$10.0

Parke — Davis
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9.3

- 252

$1.00

9.3.1

_ 1400000

~ 10000000/365 ~ ~
_ 1700000 5.,
20000000/365

400000 + 100000

10000000 + 1000000 /365 16.6

=51.1+31.0-16.6 =65.5



$ 1000
$ 1000 5%
$20000 $1000 =5% x
20000

9.3.2

| T - bills
Treasury Notes and Bonds

TANs RAN s
BANs

270 30 ~
180

- 253



9.3.3

Baumol Baumol

9.3.1 Baumol

=A== == = - TR
B8]
Baumol 9.3.1
0 $C
$C/2
i i+ C2
$T
9.3.1 T/C

bT/C

. 254

$C

$C



I
S~

o~
+

(ST

C = /Zb—.T 9.6
l

b T i C
b T l
T
9.3.2 Baumol
E
#
/ I% 'EE‘;E.
A — = i £
2
HEHE
1B
i
L
[
o
C G
Baumol
1 Baumol Fox
Fox $ 12000000
12%
$312.50 Fox
Fox

- 255-
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¢ - BT
l

=\/2 x 312.50 x 12000000 — $250000
0.12
T .C
=b C +1 2
$ 30000
12000000 250000
=312.50 x 250000 +0.12 x = 15000 + 15000
= $30000

T/C =48 =

bT/C =312.50 48 = $15000 =
C/2 = $125000 =

i€C/2 =0.12 125000 = $ 15000 =

9.3.3 Miller — Orr

UCL == e mr s s s e s s oo
$27
. ) v/\f
$27
O I B
0
Fox $ 250000
$ 125000 $ 15000 $ 15000
$30000
Miller — Orr Miller — Orr Baumol
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Miller — Orr

turnpoint

LCL Z

LCL +4/3Z

LCL Z

UCL

Miller — Orr

2 Miller — Orr
KFC

$ 100

$ 50000

9.3.3 Miller — Orr
Control Limits
LCL
UCL LCL 37
RP
LCL 7
27
LCL+Z UcL LCL +37
b i
_ 3bo” L
Z=
RP = LCL + 7
UCL = LCL +37
= LCL + iZ
3
Z
Z LCL
KFC
o = $50000
10% KFC
$ 100000

9.7

LCL

re-

UCL
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Miller — Orr KFC

250
250

- 258-

VA
365
2.+ 24+
7 = [3bcr b 3 x 100 x 50000 P 488125
4; 4 x 0.10/365
UCL RP

UCL = LCL +3Z = 100000 + 3 x 88125 = $364 375
RP = LCL + Z = 100000 + 88125 = $188125

$ 100000 KFC Z = $88125
$ 188125
$364 375 KFC 2Z = $176
$188 250 =364 375 - 176
KFC
= LCL + 37 = 100000 + 5~ x 88 125
= $217 500
Baumol Miller — Orr



3 Coors

Coors $ 50000
Coors $ 1000 4
$ 1000 $ 1000 Coors
$ 50000 $ 49000

=50000 - 49000 = $ 1000
$ 49000

4 Coors
Coors
$ 50000 Coors $500
$500
=50000 - 50500 = - $500
$500 Coors
1
2 ZBAs
ZBAs
3
ZBAs
4

- 259



$ 100000

Gap

5
$ 100000
$1.00 5
5
3% $12.00
= +
= 1.00 + 100000 0.03 57365 =1.00 +41.10 = $42.10
=12.00 +0 = $12.00
6 Gap
Gap
3 8 5 Gap
$ 100000 $ 12000
Gap 10%
= 100000/ 3 = $300000
= 300000 0.10 = $ 30000
= $12000
= $18000
$ 300000
10% $ 30000

$ 12000 $ 18000
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9.4

9.4.1

— AN on <
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9.4.2

9.4.3

9.11

ordering costs

carrying costs

economic order quantity

EOQ

0
drc _, _S ,C
dQ 0’ 2
ddTQC -0

9.9

9.10



2JS

- 28 9.13
C
1 3600 250
20
£0Q = @ = [2X30239%0 - /56000 = 300
9.4.1
0 02 % : S/0 S0 - J TC
1 2 3 4 5 6 =3 + 5
100 50 1000 36.0 9000 10000
200 100 2000 18.0 4500 6500
300 150 3000 12.0 3000 6000
400 200 4000 9.0 2250 6250
500 250 5000 7.2 1800 6800
600 300 6000 6.0 1500 7500
9.4.1
10000
- - ST
ool PR
8
B | T
4000 '
[ , s
ool ‘ sttt =
L I
'l A I Il | A
100 200 300 400 500 600
Q R
9.9 9.10
9.4.1
9.4.1 300
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9.4.4

9.4.2 a
9.4.2 b
100
9.4.2
400 _
o ook | I F
& 300
# | 1 T
2008 I | | |
. R
o 0 60 90 120 XN
(a) MPIERMR
400
o 300}
® 00t
100
0 120 X
@) ERERNR
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9.5

9.5. 1
9.5.1
A S e e
B3
1o e o
J—— {riF S8
e i e
o | R

9.5.1
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9.5.2

30 60 90

* 2/10 n/30” 30 10
®
@
* 2/10 n/30”
30 30-10 =20
2% 360
98% <30 -10 ~ 7%
2.
1
) capital

®) character

€) condition

@ capacity

- 266 -

2%



® collateral

2
=3.5 +10
-25 +1.3
>50
=40 ~50
<40
=4.2
=1.5
=0.3
=20
=3.5%x4.2+10x1.5
-25%x0.3+1.3x20=48.2
3
)
@
©)
@
®
©
9.5.3

9.14
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Ve—
ACP—
BD——
R——
D_
CF, = VC S ACP/365

CF,= S1-VC -SBD -SR D 1-T
T
S1-vC
S BD
SR D
2.

ACF, = VC S,/365 ACP, - VC S,/365 ACP,
ACF, = S, 1-VC -8, BDy -SyRyD,
S, 1-v¢ -S, BD, -S,R,D, 1-T
ACF,
ANPV = =24 _ ACF,
K
K——
1
9.5.1
60%
4
33% 10%

9.17

9.18



9.5.1

1/10 n/30 2/10 n/40
ACP 16 15.5
S 2800 3000
BD 2% 3%
R 55% 60%
D 1% 2%

ACF, = V€ S,/365 ACP, - S,/365 ACP, + Al

Al
ACF, =0.6 3000 365 15.5 — 2800/365 16 +4
=2.7945 + 4
=6.7945
ACF, = S, 1-VC -BD,-R, D,

-S, 1-VC -BD,-R,- D, 1-T
3000 1-0.6 -3% - 2% 60% - 2800

1-0.6 -2% - 1% 55% - 1-0.33
= 1074 - 1048.6 0.67
=17.018

ACF,

ANPV == = ACF,

17.018

=g - 67945

=163. 3855
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9.6

9.6.1
VP - Finance CFO
9.6.1
9.6.1 CFO
[ tirgmizic(cEO)|
I
[ I i | |
iieig | [ aomme | | wson LR : ™8
mesn | | dess (CFO) mesm | | mess
!
[5e]—
WLt B TR
Greril
[ mmmem |
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9.6.2
9.6.1 —
30 11
3
9.6.1 — 30 1994
10

Allied Signal $4.744 $4.240 $0.504 $11.321 $2.972 $9.626
Alcoa 3.569 3.299 0.270 12.343 3.943 7.740
American Express 0.790 0.613 0. 177 97. 006 6.233 14. 628
AT&T 45. 150 28.778 16.372 79. 006 17.921 78. 843
Bethlehem Steel 3.276 4.39%4 -1.118 5.782 0. 586 1.978
Boeing 9.290 7.473 1. 817 21. 463 9.700 16. 021
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Caterpillar
Chevron

Coca - Cola
Disney

Du Pont

Eastman Kodak
Exxon

General Electric
General Motors
Goodyear

IBM
Intemational Paper
Medonalds"
Merck

MMM

J. P. Morgan
Philip Morris
Procter & Gamble
Sears

Texaco

Union Carbide
United Technologies
Westinghouse

Woolworth

5.120
3.626
0.944
0.485
14.223
5.263
7.278
26. 166
54.624
2. 080
44. 204
2.895
NA
1.371
4.676
1.029
7.328
0. 806
4.344
1.822
2.414
7.229
3.557
0. 590

4.750
2.874
0.957
0. 404
10. 744
5.077
9.058
18.430
64.273
2.373
40.929
2. 069
NA
1.350
4.434
0.718
5.552
1.125
3.776
1. 690
150
829
731

e o

852

0.370
0.752
-0.013
0. 081
3. 479
0. 186
-1.780
7.736
-9.649
-0.293
3.275
0. 826
NA
0. 021
0.242
0.311
1.776
-0.319
0.568
0.132
0.264
0.410
-1.174

-0.262

16.250
34. 407
13. 873
12. 826
36. 892
14. 968
87. 862
194. 484
198. 598
9.123

81. 091
17. 836

NA

21. 856
13. 496
154.917
52. 896
25.535
91. 896
25.505
5.028

15. 624
10. 624

4.173

2.911
14. 596
5.235
5.508
12. 585
4.017
37. 474
26. 387
9. 155
2.803
22.288
6.514
NA
11.139
6.734
9.074
12.786
8.677
9.240
9.216
1. 509
3.752
1. 780
1.353

11.
29.
65.
20.
38.
16.
75.
87.
31.

049
084
710
309
221
223
451
004
777

5.001

43.

197

9.489

NA

47.
22.
10.
49.
35.
16.

15.

573
407
535
039
527
180
539

4.242

7.742

4.371

2.087

a. McDonalds

Standard & Poors Compustar PC Plus.
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. 274

defined benefit pension plan

1.5% 2.0%
= X X
1/12
1
30
1.5%
$ 50000
9.20
$ 1875
0.015 x 30 x 5000 = $22500
7% 0.5833%/
216
$229926 CF =1875 r=0.5833% n =216 FV =0
926
PV = 1875 x 1.005833 % -1 + 0.005833 x 1.005833
2
80%
$ 80000
$ 48000 $ 66000
82.5% =66/80
$ 36000

9.20
$22500
18
PV =229

216 = $229926

$ 18000



$ 48000 $ 84000

$ 160000
52.5% =84/160
82.5%
4.9.7 29 8
21
20%
2.
defined contribution pension
plan

9.6.1
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$ 10000 20

30% 50%
20% 20

5% 7% 10%

20
$3000 5% $99198
5000 7% 204977
2000 10% 114450
$ 10000 $ 418725
25%
75% 20
20
$— 5% $0
2500 7% 102489
7500 10% 429562
$ 10000 $532051
APR  8.7% $ 36429
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=0. 087 x418725 $46288 =0.087 x532051
9.6.2

9.6.2

= + - - 9.21

1974 ERI-
SA
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ERISA

$1.00

ERISA

ERSIA
5
PBGC  ERISA PBGC
ERISA
ERISA
ERISA
$0.50

ERSIA



7.
PBGC
PBGC
OBRA
100%
OBRA
8.

50%

1987
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OBRA

9.6.3
1
2
3
4
n CF
PV = -
zf 1+r'
P, CF t n r
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A. H. Robins
Dalkon Johns — Manville Dow —

Corning

- 282-



4

Flex $ 500000
$ 350000 $ 150000 Flex
$ 400000 0.25%
$ 1000 =0.0025 x400000 $ 1400
$400 Flex
Flex
Flex — Flex
$350000——
$ 100000
$ 250000 $ 150000
0.25% $375 = 0.0025 x
150000 $ 1400 $ 375
1
2
1 28
1.9%

- 283




$ 90000
2. Toro $ 250000
0.04% 0.12%
Toro $ 250000000 $ 300000000
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key word

Green Apple Data Center



1

2

3

4

5
I

]

10.1

10. 1.1

70% 10. 1.1
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10. 1.1

1994 12 31
$64
_ 23
34
$121
6 $135
89
7 42
$266
10
8
9 25
31
43
$99
$580
1994 12 31
1.
% 1994 12 31
a 1995—2009 $67
1997 7.2 17
1995—2004 32
b 2000—2006 5.125 ~5.625 35
c 1996—2000 7.38/9.0 34
$185
d 16
169
34
$135

287



a 30 2009
2004
2004
b. 2000 1 2006
2
1997 1
2000
5 1997
. 1996
1996
d.
1986 1987
1994 12 31 16
2.
1994 12 31
518
2_4
542
3.
1993 11
1998 6.55% >
1998
11 5
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1994 12 31
600 1998 6.55%
1988 5 539
3 6.25%
2001 5
102% 2
$84
4.
5
2007 6 1 107 2000 6 1
107 1994 12 31
250 000
10. 1.2
10. 1.3
1.
®
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1 1997 10. 1.2
10.1.2
3 486 540 3 450 000 36 540 1. 06%
10.1.2
36 540 1. 06
2.
3.

- 290-



3
2 1997 10 21 600
26 832
10. 1.3
10.1.3
200 215
/ 10. 8 9.6
/ 10 13
21 600 26 832
1
5232 26 832 -21 600
=5232
2
= X X
200 x 10. 8 x 10 =21 600 @®

- 291



- 292

215 x10. 8 x10 =23 220

215 x9.6 x10 =20 640

215 x9.6 x13 =26 832

@ -@ =23 220 -21 600 =1620

@ - @ =20 640 —23 220 = -2580
@ - (3 =26 832 -20 640 =6192

1620 -2580 +6192 =5132

100%
3 A 1996 1997
10. 1.4
10. 1. 44 100%
1997 1996
21.79% 8.92%
60% 70. 99%
7.53% 7.72%
26.97% 15. 79%
1. 86
1996
A

® @

0.1
1997



10.1. 4

1996 1997
1996 Yo 1997 %
7 865 400 9 048 650 100. 00 100. 00
4 719 240 6 424 060 60. 00 70. 99
591 900 698 440 7.53 7.72
432 597 497 670 5.50 5.50
2 121 663 1428 480 26.97 15.79
151 220 164 380 1.92 1.82
480 650 720 970 6.11 7.97
114 370 128 460 1.45 1.42
1 677 863 743 430 21.33 8.22
53 720 88 660 0. 68 0.98
14 570 15 450 0.19 0.17
32 260 40 100 0.41 0.44
1713 893 807 440 21.79 8.92
2
A
10. 1.5
10. 1.5 1997 1996 A
15. 04 % 32.67%
36.12% 18. 00%
1997 1996 8. 7%
50% 12.32%
1997 1996
55.69% 65. 04 %
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10.1.5

1996 1997 %
7 865 400 9 048 650 1 183 250 15. 04
4 719 240 6 424 060 1 704 820 36. 12

591 900 698 440 106 540 18. 00
432 597 497 670 65 073 15. 04
2 121 663 1 428 480 -693 183 -32.67
151 220 164 380 13 160 8.70
480 650 720 970 240 320 50. 00
114 370 128 460 14 090 12.32
1 677 863 743 430 -934 433 -55.69
53 720 88 660 34 940 65. 04
14 570 15 450 880 6. 04
32 260 40 100 7 840 24.30
1713 893 807 440 -906 453 -52.89

10.2
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10.2.1

1. liquidity Ratio
= — x 100%
200%
100%
10.2. 1 A 1997
3 338 083
= 1626 870 = 100% = 205%

A 205%
2. Quick Ratio

= —x 100%

200%

12

31
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10.2.1 01
1997 12 31

1 346 070 401 450
2 50 000
3 54 180 42 630
4 487 650 522 410
5 1 463 1567
6 486 187 520 843
7 169 140 196 270
8 42 160 61 410
9 1779 680 1 984 060
10 70 630 81 420
11
12
13
20 2 948 047 3 338 083
21 260 000 400 000
24 3 621 320 4 018 760
25 1 669 384 1 984 554
26 1 951 936 2 034 206
27
28 290 660 331 100
29
35 2 242 596 2 365 306
36 289 130 246 260
37 242 470 98 450
40 531 600 344 710
41
42
45 5982 243 6 448 099
46 196 800 243 000
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47
48
49
50
51
52
53
54
55
56
57
58
59
65

66
67
68
72
75

76
71

78
79
80
81
85
90

114 660
396 240
120 000
28 155
49 380
48 400
27 765
337 660
65 190
32 000

1 416 250

900 000

86 000
986 000

3 000 000

491 860
88 133
3579 993
5982 243

99 880
501 140
48 670
44 830
51 045
96 885
44 110
396 480
53 070

47 760

1 626 870

840 000

102 200
942 200

3 000 000
80 000
612 400
186 629

3 879 029

6 448 099
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100%

50%
10.2.1 A 1997 12 31
3338083 — 1984 060 —196 270 — 81 420 0. 66
B 1 626 870 -
A 205%
66% A
3.

= x 100%

25%

A 1997 12 31

_ 401 450 + 50 000

L626870 -2 T%

A 1997

- 298-



10.2.2

1.
50%
A 1997
2.
A 1997

12

12

X

31

100%
100%
1 626 870 + 942 200 _
- 6 448 099 = 39 84%
= x 100%
= — x 100%

31

- 299



_ 3879029

= 6 448 099 - O 10%
* = 39.84% +60.16% = 100%
3.
= x 100%
100% A 1997 12
2 034 206
= 3879 029 X 100% = 52.44%
.
B x 100%
+
100%
100% 100%
100%
100% 100%
A
2 034 026
= 3879 029 + 942 200 ¢ '00% = 42 19%
s.
A

- 300-
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942200 10095 = 24.29%

~ 3879 029
A
10. 3
10. 3.1
1.
- % 100%
200%
50%
A 1997
3338 083 — 1 626 870
- 3 338 083 x 100% = 51.26%
A
2.
- X 100%
25%
A 1997

3338083 — 1626870
B 6 448 099

x 100% = 26.54%

- 301 -



10.3.2

12

A 1997

- 302 -

Fixed Asset Furnover Ratio

12

6 424 060

1984 060 + 1 779 680 /2

Receivables Turnover Ratio

= 3.41




A 1997
9 048 650

54 180 + 42 630 /2 + 486 187 +520 843 /2 16.39
365
=16.39 = 22.26
3
10.1.4 10. 2.1 A 1997
B +
- 2
2948047 —1416250 + 3338083 -1 626 870
- 2
=1 621 505
9 048 650
1621505 338
4
A 1997
9 048 650

= 1951936 +2 034206 2 -
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365

454" 80. 40
5
A 1997
_ 9 048 650 . )
= 5082243 + 6448009 2 - W =16
365
=146 250.7
2.
1
A 1997
- 9 048 650 5 13
T 3579993 +3879029 2 7
2
A 1997
_ 9 048 650 o

3 000 000 + 3 000 000 /2

- 304 -



10. 4

10.4. 1

A 1997

_ 807 440 + 96 150

9048650 0%

- 305-



A 1997 807 440

9048 650 2%
A 1 0. 0999
0. 0892
2.
_ _ +
A 1997
807 440 + 497 670
= g0ases0 | HH%
10.4.2
1.
A 1997
1 428 480
= 6424060 - 22247
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A 1997 190 420 A

_ 807 440 = 9,899
T 6424 060 + 190 420 + 698 440 +720 970 + 128 460

: 0. 0989
10.4.3
1.
- +
A 1997
- 807 440 + 96 150 _
"~ 50982243 +6448 099 /2 14.54%
+
- X
= X
A
=9.99% x1.4559 = 14.54%
1
1454
2.
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A 1997
807440 x 1 -33%

= 3579993 13879029 2 - \HI1%
3.
A 1997
807 440 x 133%
- 3 000 000 = 18.03%
10. 4.4
1.
1B 1997 200
10 40 5 1997
7 825 600 10%

_ 7825600 -5 x 400 000 x 10%

2 000 000 = 3. 8128

- 308



2 B 1997 12 31
48. 16
48. 16
= 3.8108 = 1263
3.
3B 1997 4 000
000
_ 4000000 _,
= 2000000
B 2
4.
B -2 _ 5459
T 3.8128 T
B 52.45%

- 309



10. 5

- 310-

10.5.1

10.5.1




10.5.1 1A

14. 51 %
« =V 1-
8. 7043 % 1. 6665
\ \
X
5. 9786 % 1. 4559
\ |
540 984. 8| T |9 048 650 9 048 650 - 6 215 171
9 048 650| T | 268 490 | T~ |8 776 155. 2 3 143 065 + 3 072 106
164 380 6 424 060 398 760 330 000
+ + + +
88 660 u 1 547 870 551 920 2 303 951
+ + + +
15 450 u 764 125. 2 1 881 870 438 155
+ + +
40 100 | 310 515 B 0
1
2
3
4
5 A 1997 10.1.4 10.2.1
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10.5.2

1997

100



2 100
10 10.5.1
3
1/2 {3 ” “ n
12% 10
20% 15 5
20% - 12%
S XY
- 10 ¢
10.5.1

10 12% 20% 15 5 1.6%
10 10% 20% 15 5 2.0%
12 15% 25% 18 6 1.67%
12 12% 15% 18 6 0.5%
12 40% 100% 18 6 10%
12 200% 400% 18 6 33.33%
8 15 35 12 4 5

8 5 10 12 4 1.25

8 15% 30% 12 4 3.75%
8 10% 20% 12 4 2.5%
100 150 50

313-



1.6% 1 . 6%
15 5
4
10.5.2
5 A 92. 399
100
10.5.2 A
A
10.5.2 A
1 2 3=1-2 4 5=3+4 6 7=6+5
14.54% | 12% | 2.54% | 1.6% 1.588 10 11.588
9.99% 10% -0.01% | 2.0% -0.005 10 9. 995
14.51% 15% -0.49% | 1.67% -0.293 12 11.707
9.89% 12% | -2.11%| 0.5% | —4.220 12 7.780
39.84% | 40% | 0.16% 10% 0.016 12 12.016
205% 200% 5% 33.33% 0. 150 12 12. 150
16. 39 15 1.39 5 0.278 8 8.278
3.41 5 -1.59 | 1.25 -1.272 8 6.728
15. 04% 15% 0.04% 3.75% 0.011 8 8.011
-52.89%| 10% -62.89%| 2.5% -25.156 8 4"
100 92.253
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10. 6

10.6.1 Anheuser — Busch
12 31
1993 1992
o s 127 215
751 650
627 661
_2% _ 2%
1 795 1816
11 727 11 385
—4230 =3 861
7 497 7 524
1 588 1198
$10 880 $10 538
$ 813 $ 737
91 39
610 427
_ 302 _ 257
1816 1 460
3032 2 643
1170 1277
607 538
6 625 5918
0 0
343 341
402 329
5 990 5793
—2 480 —1843
4255 4 620

315-



$ 10 880 $10 538
10. 6.2 Anheuser — Busch
12 31
1993 1992 1991
$11 505 $11 394 $10 996
6 811 6742 6614
4 694 4 652 4 382
2 309 2 309 2 126
_ 608 _ 567 _ 534
1777 1776 1722
-208 -200 -239
37 48 47
__ =556 _ =9 _ -9
1 050 1 615 1521
456 621 581
594 994 940
0 _ 0 _ 0
$ 594 $ 994 $ 940
$2.17 $3.48 $3.26
$1.36 $1.20 $1.06
273 963 285 690 288 282
1 2 Anheuser — Busch
1992
1.
1816

316-

T 1460

=1.24



2.0

- 1 816 - 661
B B 1 460 =0.79

1.0

- 1816 — 1 460
- - 11 394 = 3. 1%

215
© 10538

Anheuser — Busch

10.6.3

Anheuser — Busch

1.24 2.12
0.79 0.93
3.1% 24. 0%
2.0% 3.0%
Anheuser — Busch
heuser — Busch
2.0 1.0
2.0 1.0
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11 394
= = 650 - 17.53
DSO
365 365
- = 17.35 =208
3 ~30 30 ~ 60
60 ~90 90 3
10. 6.4
0~30 $ 1500 50. 0%
30 ~60 900 30.0
60 ~90 450 15.0
90 150 5.0
$3 000 100. 0%
6 742
= =66l - 10. 20
12.0 1/12 30. 42
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365/12 Anheuser — Busch
365 365

- =10.20 8
B 11394
B 7524 151
11 394
B 10 538 1.08
$1
Anheuser — Busch
10.6.5
Anheuser — Busch
17.53 8. 11
20.8 50.9
10. 20 2.89
35.8 189.2
1.51 3. 84
1.08 1.01

Anheuser — Busch
Anheuser — Busch

- 319-



_ 10538 -4620 _ 5918

- 10 538 = 10538 = 090
1 0 —
0 _
5918
_ = =160 = 1.28
$1
10 538
B T 4620 2.28
0. 40 40%
60% — 40/60 =1.
67 100% A=L+OE
100/60 =1. 67
= — +1.0
- 1.0 -
Anheuser — Busch
10. 6. 6
Anheuser — Busch
0.56 0.24
— 1.28 0.51
2.28 1.51
Anheuser — Busch 56 % —
$1 $1.28
$1.00 $2.28 Anheuser — Busch

- 320-



10. 6.7

— Busch

-$9

$1776
=1776 -9 = §1767

1767 _

200 8. 84

1767 +5

=300 45 - o6

+ + +

1-T 1-T

1767 +5 + 567

= 0 344
0045+ 654 * 1 04

1-T T

$1
$1
1-T

Anheuser — Busch

Anheuser

=3.01

Anheuser — Busch

8. 84 6.28

8. 64 6.17

- 321



3.01 8.26

Anheuser — Busch

5.
$1
4 652
B T 11 394 = 40.8%
$1
994
B T 11394 8.7%
Anheuser — Busch
10.6. 8
Anheuser — Busch
40. 8% 40. 5%
8. 7% 7.2%
Anheuser — Busch
ROA
994
B T 10538 9. 4%
1767
B ~ 10538 16. 8%

- 322-



B 99
= =160 " 21.5%
Anheuser — Busch Anheuser —
Busch
6.
EPS
DPS
$16.17 =4 620/285. 69
Anheuser — Busch $58.50
— P/E
58.5
_ = = =348 " 16.8
0 _
3.48
_ = =555 - 5.95%
1.20
- ~58.50 2. 05%
0
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_58.50

- =617 = >
Anheuser — Busch
10.6.9
Anheuser — Busch

— 16.8 15.4
— 5.95% 6.40%
2.05% 2.00%

3.62 1.93

Anheuser — Busch

Anheuser — Busch —

100%

. 324



2
3
B
300 560
20 160
280 400
40% 112 160

168 240
200 1600
800 400

. ROE ROA  ROIC

b. B ROE

c. A ROA B
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word

Green Apple Data Center




1 .
[ ] [ ]
. 5
[ ] [ ]
2 .
3 [ ]
4 °
° [ ]
[ ]
T
1
2
3
4
[
11.1
11. 1.1
Barings PLC 233
1803
1995 28
$ 10

Nicholas Leeson

- 328-



1995 1 “ " Plain Vanilla

$70 $220

$10

Kidder Peabody & Co.
$3.5
Daiwa Bank Lid
11 $11

11. 1.2

Set — of — Contracts Model
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- 330

27 000

900

4%

CEO

4%

0.3%

0.3%



11.1.3
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11.2
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11.3

- 333



20%
80%

. 334



5%
5%

11.4
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11.4.1

11.4.1

11.4.1
11.4.2 11.4.6
“ ? 11.4.1
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11.4.1

UL TR IS S ——
PR TFIH A BT HE : 7 B
LB ' L
ESEN) T p—
AR A R R |
AT RNE EFRE E L
SREMORE : BREdmARLE
FEEN) ——= | BT I R 4 ———
AREBEFYLTEN L (BHIERZARHER) ——-
1
Placid Oil Co. 1986 3
H L 1986 9

$3.4

7 000 $10

Pemod Drilling Co.
1979—1980

2243
150
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1990 4

11.4.2 “

11.4.2

A RIEARTE
FRZT A R A S T AR 1l

f B MR (e WRT A MM %8 EA)

(R
WM A ERERR .
EEF T‘Iﬂ'gfﬂﬁ R i ?ﬁlﬁﬁﬁﬂﬁﬁmﬁﬁgﬁh l E
HEEN i AR A A A T (85 R )
o3 dEpalh:

B et A
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11.4.3

11.4.3
AL AR IS
RENATEESATIERE
B A R A (R AE ; i1 B
SREEmaE : R
ZIEEM) RARHHA @ ERESE —
MEAREAARAILE R L ENR
Boaaam | mmAn e nas
- FEI B IR 2L

M R (R A S EMBAE
SRS EMRE BEE. 5D

| RANTHOE ®ERem — | EBEX
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